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Molarity is the way in which chemists express concentration – that is, it tells them how much solid is dissolved in a particular solution.  Molarity is the number of moles of solute (the compound that is dissolved) divided by total liters of solution.  Total liters of solution includes the volume taken up by the liquid and the solid that is dissolved.
Review the information about molarity on pages 418 to 421.  Use the sample calculations on pages 420 and 421 to guide you through the molarity problems below.  Two problems are worked out on the white board for you to reference.  Return your textbook to the counter at the end of the period.  Return your calculator to the basket before you leave.     
MOLARITY - PROBLEMS
1. Sea water contains roughly 28.0 g of NaCl per 1.00 liter. What is the molarity of sodium chloride in sea water?  (Convert grams of NaCl to moles, divide by 1.00 L to get molarity) 
2. What is the molarity of 245.0 g of H2SO4 dissolved in 1.00 L of solution? 
3. What is the molarity of 5.30 g of Na2CO3 dissolved in 400.0 mL solution? 
4. What is the molarity of 5.00 g of NaOH in 750.0 mL of solution? 
5. How many moles of Na2CO3 are there in 10.0 L of 2.0 M soluton? 
6. How many moles of Na2CO3 are in 10.0 mL of a 2.0 M solution? 
7. How many moles of NaCl are contained in 100.0 mL of a 0.20 M solution? 
8. What mass (in grams) of NaCl would be contained in problem 7? 
9. What mass (in grams) of H2SO4 would be needed to make 750.0 mL of 2.00 M solution? 
10. What volume (in mL) of 18.0 M H2SO4 is needed to contain 2.45 g H2SO4? 
11. What volume (in mL) of 12.0 M HCl is needed to contain 3.00 moles of HCl? 
12. How many grams of Ca(OH)2 are needed to make 100.0 mL of 0.250 M solution? 
13. What is the molarity of a solution made by dissolving 20.0 g of H3PO4 in 50.0 mL of solution? 
14. What mass (in grams) of KCl is there in 2.50 liters of 0.50 M KCl solution? 
15. What is the molarity of a solution containing 12.0 g of NaOH in 250.0 mL of solution?
